DRI

Numeroiden prosenttiosuus (puuttuva luku)

x 30% = 8.1

x90% =43.2
x 30% = 27.3
x 80% = 64

x 80% = 44.8
x90% = 55.8
x 30% = 28.8
x70% = 61.6
x 60% = 37.8
x 80% = 72.8

www.snowmath.com

Piivimaari:
x 10% = 4.7
x30% =219
x70% = 21
x70% = 14.7
x 80% = 62.4
x 30% = 6.6
x30% = 22.8
x 30% = 24.6
x20% = 5.6
x 80% = 80

Pisteet:



https://www.snowmath.com

DRl

Numeroiden prosenttiosuus (puuttuva luku)

Nimi:

27 x30% = 8.1

48 X 90% = 43.2

91 x30% = 27.3

80 x 80% = 64

56 x 80% = 44.8

62 x 90% = 55.8

96 x 30% = 28.8

88 x70% = 61.6

63 x 60% = 37.8

91 x 80% = 72.8

Paivamaara: Pisteet:

47 x 10% = 4.7

73 x30% = 21.9

30 x 70% = 21

21 x70% = 14.7

78 x 80% = 62.4

22 x30% = 6.6

76 x 30% = 22.8

82 x30% = 24.6

28 x20% = 5.6

100 x 80% = 80
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